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Support your answer with neat and clear diagrams whenever
NECCSsary,

Discuss IPv6 datagram along with its format.

When an 1P datagram travels across the network, b s
desirable to keep datagram size such that it fits in phy sical
frame size of that network for efficient communication.
But practically datagram travels across different types of
networks which may have different physical frame sizes.
How TCP 1P manages the issue to efficiently transmit
the datagram? Fxplain with example.

Discuss different dynamic routing protocols in briet.

What are the advantages of having the 1P checksumcover
only the datagram header and not the data” What are the
disadvantage” Is it ever necessany to use an [P checksum
when sending packets over an Fthernet? Why or why not?

Explain how DINS maps names 10 addresses” Also discuss
how it is an efticient, reliable, general purpose and
distributed system?

Consider @ machine with two physical network
connections and two 1P addresses T and 12 Bt possible
tor tat machine to receive ditagram destined for L2 over
the network with address 117 Bxplain,
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How testing of destmation reachabiliny and status is done
in TCP TP networks? Explain the working of program used
for this purpose. Also give its request and reply message
tormats,
Argue that fragments should have small non-standard
headers.

What is the need of clock synchronization and transmit
tme extimation for communication on a Network”? Name
one ot the protocols of TCP TP suite which performs this
tunction and How?

How multiplexing and de-multiplexing performed in
UDP? Also give a diagram explainimg your answer,

Larly TCP implementations exhibited a problenm known
as Silly Window Syadrome (SWS). Explain this problem
and bow at can be avoided?

Assume TCP s sending segments using a window size of
64 K by tes ona channel that has infintte bandwidth and a
average roundtrip tme of 20 nulliseconds. What 1s the
maximum throughput? How does throughput change if
the roundtrip ume increases to 40 milliscconds?

Which TCMP messages does a router generates” Fxplain
cach in brict. How doces o router know whether an
mcoming datagram carrics a4 routing update message”?

Discuss RARP along sith its drawbacks, What is the
replacement of RARP to overcome these drawbacks?
How this protocol vvercomes these drav backs of RARP?

Discuss FTP process model in detail. What is anom mous
e

What do you understand by TELNET options” Are
TEDNET options negotiable? i es, state how TR NET
negotiates options
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